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Note :— Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

paper.
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Answer four question in all, selecting

one question from each of the four Units.

All questions carry equal marks.
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UNIT I (368 1)

1  What do you understand by the Agrarian Crisis ?
What was its role in the collapse of Tsarism ?
R dHe @ w0 A 7 IRAE D U A @
R @ ?

2. What were the challenges faced by the Provisional
Government ? Why was it overthrown in October
19177
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3. Discuss the representation of women OR peasants in
Russian literature of the nineteenth century.
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UNIT II (3% II)

4. What are the features of War Communism ? Was it
a product of ideology or wartime compulsions ?
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5.

What were the economic achievements of the NEP

period ?

& s A @ T A s SuaRkE = K ?

What were the main arguments in the Great Debate

on Soviet industrialization ?

Qg iR e wERaE @ T qd o & 7
UNIT I (378 III)

What do you understand by ‘de-kulakization’ ? Discuss
the relationship between the state and the peasantry

during the period of collectivization.

Regererzaree (Fragefeon) = = s 2 7 aeRE
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What were the reasons for rapid industrialization of
the USSR during the 1930s ? What were its most
notable achievements ?
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Discuss the changes in party and state during the
1930s.
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10.

11.

12.
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UNIT IV (5@t IV)

Was appeasement by weétern powers a factor that
led to the Nazi-Soviet Pact in August 1939 ? Why
was it so short-lived ?
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Discuss the foreign policy of the USSR between 1945
and 1956.
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Discuss the reforms in agriculture and industry
introduced by Khrushchev. How far were they
successful ?
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